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Il Semester B.Com. Examination, November/December 2017
(Semester Scheme) (2015-16 and Onwards) (CBCS) (F + R)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions - I

Time : 3 Hours Max. Marks : 70

Instructions:  Answers should be written completely either in English or
in Kannada.

SECTION-A
1. Answerany five sub-questions. Each sub-question carriestwomarks.  (5x2=1 0)
OIRYTTHTIT 80T WBBINOR S0I00. FS YTBIT 2 08ned.
a) What do you mean by correlation ?
RABIOWOT OB 7
b) If bxy = —0.36, byx = —1.38, obtain ‘.
bxy = —0.36, byx = —1.38, =33 'r 30288000,

c) Write the meaning of irregular variations.
23030603 LTI eﬂqﬁraﬁg{ DR,

d) Expand (y - 1)6 = 0.
(y-18=0 BT, RO

e) What is meant by multi-stage sampling ?
BB BT OTZER?

f) Mention methods of sampling.
TIRTOCH aqﬁr{eﬁsi SR,

g) What is probability ?
R0LTBICONZB 0BT 9

P.T.O.

http://www.onlinebu.com

*


http://www.onlinebu.com
http://www.onlinebu.com

http://www.onlinebu.com

SN - 469 | 2- IR A

SECTION-B
Answerany three questions from the following. Each question carries sixmarks. (3x6=18)
O3RR)TIOTOR TVORTO @%ﬁ@ﬁ SUZ0R. T3 ;g,%ﬁ ¢35 90BN

2. Ranks given in a music contest aésigned by two judges are given below :
JudgeA: 4 5 8 6 7 3 1 2
JudgeB: 7 5 4 1 3 2 6 8
Calculate rank correlation.

Rone3 R 0309 328> SeRFIMITT B3 39803 3 ecdneR) DeRTITYT.
SeIprsms A 4 5 8 6 7 3 1 2
eSRFSmS B 7 5 4 1 3 2 6 8
063 ABROLOGIRR FORBOWO.

3. Calculate the two regression equations from the following data :
X =20,Y =12, 0x=5, 6, =25,r=0.8.
FBNS DRTRLOT TR 2OBOBCZ BTN, FOTIBOD.
X =20, Y =12, 6x=5, 6, =25,r=0.8.

4. Estimate the population of India for the year 2021 using Binomial expansion
method from the following data :

Year: 1961 1971 1981 1991 2001 2011

Population : 439 548 684 89 100 111

(in crores)

202183033 udﬁoa%omg B3 BN TeIoDd R0 LR Re00de” DI DROX
€90TIOTR.

SR 1961 1971 1981 1991 2001 2011

wRgesd 439 548 684 8 100 111

(Brceingdd)
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5. Aman wants to check the inventbry records against the physical inventories by

a sample survey, permitted deviation is +5 and standard deviation is 39.4. Find

the sample size, if the confidence level is 90% (Value of confidence co-efficient
90% = 1.64).

ATRY DS ot g3 ATk s woedon wRrd A0 Hnrus SEOS
SRR +5, DOFF, 038w 39.4 T2 Fowdbey 90%, B3 Reciocd S no)

-0

BOR220990, (Fowdenh Ao 90%=1.64)

6. Two unbiased dice are thrown. Find the probability that
a) both the dice show the same digits
b) the first die shows 5.

OB TTRBDOT BA SR, B0t COBORR) BT 8RO,
a) o> BRI 2s0Te :doaj;’go:bsﬂgt BnedTon
b) ez B a’o@% 5 Zredamon.

SECTION-C

Answerany three questions from the followi ng. Eachquestion carries fourteen marks.

(3x14=42)
AR T BIOR eugor. B BF14 esoins

‘ 7. Compute Pearson’s correlation co-efficient for the following data and also calculate

the probable error.
Supply : 0 20 29 25 24 24 o4 21 18 15
(quintals)

Price® : 11 2 183 14 15 16 15 147 18 20

3o BRSO BT =03 2330000z 0L RZS a;"ccﬁpéo&)ocﬂ #&zﬁowo&p’d&’% 550
BB TN Bo3RAecDd Beg) BOTOZRBOWD.

RSWo 30 29 29 25 24 o 24 21 18 15
(3ptmoere)

B3R : 11 2 183 14 15 16 15 17 18 20
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8.

10.

11.
|
|

Calculate trend values by the method of least-squares from the data given below :

Year : 2009 2010 2011 2012 2013 2014 2015 2016
Sales : 76 8 130 144 138 120 174 190
(Rs. lakhs)

Plot the values on a graph. Also estimate the sales for 2017.

R, BNF WEINTEY 2,000 RO 3,8 0d0R oA B SeanIBony Bow wISoDR)
RoToes B8 20170 0z moaasasé 20EBO00.

S%e 2000 2010 2011 2012 2013 2014 2015 2016
Sposei: 76 80 130 144 138 120 174 190
(3. ©IYO)

The heights (in inches) of a group of fathers and sons are given below :

Heightof fathers: 71 68 66 67 70 71 70 73 72 65 66
Heightofsons :69 64 65 63 65 62 65 64 66 69 62

Find the lines‘of regression and estimate the height of son when the height of
father is 69 inches.

3o iraﬁdad cloinfrece! ai:ﬁﬁ Sclelaleagles o c?eajﬁeido FOEOBBOND. BorC3d BT
69 028D oy RN BT chwD QOT E20TIDL3R.

3ododaa§d 71 68 66 67 70 71 70 73 72 65 66
aﬁas;.*ag’d: 69 64 65 63 65 62 65 64 ©6 69 62

Below are the data relating to wages earned by workers per day in a certain
factory. Calculate the number of workers earning more than X 75 per day by
applying Newton’s method.

Daily wages Q) upto: 50 60 70 80 90 100

Number of workers : 50 150 300 500 700 800

FSTOF SO BSOD T BT NVAT ﬁeédﬁﬁ ROLORATI TEELTTR) YN QeBDNT. OE
T. 758,08 5303 B0 PR TE0F B0 Ha3 030, 20328 B0, SRR :aqmﬁd:
@5 CDJNO

zgé as Bz ) 235 50 60 70 80 90 100

Fo0F BT Hosd ; 50 150 300 500 700 800
Estimate the production for the years 2013 and 2015 with the help of the following data :
Year . 2010 2011 2012 2013 2014 2015 2016

Production (in’000tonnes): 200 220 260 7 350 ? 430
3R QeRDT 08e03nP RTHE0S 2013 2083 2015 SRF T3 BN om0 [WRE.
SR : 2010 2011 2012 2013 2014 2015 2016
3ES ('000 BINLY) 200 220 260 ? 350 ? 430
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